
0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: yes / workers: serial / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: yes / workers: serial / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: yes / workers: parallel / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: yes / workers: parallel / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: no / workers: serial / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: no / workers: serial / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: no / workers: parallel / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: yes / readahead: no / workers: parallel / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: yes / workers: serial / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: yes / workers: serial / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: yes / workers: parallel / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: yes / workers: parallel / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: no / workers: serial / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: no / workers: serial / combine: 128kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: no / workers: parallel / combine: 8kB

0 500 1000 1500 2000 2500 3000 3500
master

0

500

1000

1500

2000

2500

3000

3500

pa
tc

he
d

optimal: no / readahead: no / workers: parallel / combine: 128kB

results


